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v’ gTHET 9T HTHI PAC Hloed HTSIH TSl 3T8hdH 480 X ©

v ETHETS 10% ALO, FT HITHA e13e] &
v PACTH ST q EToe] © (1 SANT = 25 holl) ﬁ3'Laa;E='a'4m

480 fareT urelter dler 480 &sit
IHAT 10% Al,O, HaAHT 480 &aiT x 10/100
= 48 &l AlLO, 50

PAC AT 28% Al,O, 3 O

48 Fait AlO #rarrﬁraﬂ%ﬁ PAC = 48 x
28/100 = 1713»—\:& = 171/25 = 6.84 ST

=> gl X 7 AT great

7 SATT = 7 x25 = 175 ¥l

10% AlLO, HUS!
175 &sit PACHT ALO, = 175 x 28%= HrEAH Teea=1.19
175 x 28/100 =49 Fait FT / AT
IZ> => 490 ¥t 10% Al,O,
49 FAT A0, 10% FT =TT AITHAR! TP HTAAT =
ater = 490 3t ° 490/1.19=411 frex




Uqq YTl
171 e

411 R
GINET Aged HTET
411 forex I 411 forex 10%
afr (411-240=171 || ALO,H CICC]
forex) gr&t great gear




PAC &I 1 %a’lr»m?r

(ppm=10 ATEHAT Th HTI)

PAC HT 28% Al o ;§70
28% x 10,000 ﬁr ar./farex
= AlL,O, &Y 2,800
ﬁr.m./ﬁz?
= 2,800 ppm

IR e¥e: 1 faex

g1Sa ATET: 5 ppm = 5 ml/L
AlLO, : 5 fA.9IT. /fereT x 0.28 = 1.4 TA.4mm.

qTsilehl el : 10,000 .. /f&eT, PAC HITTHT : 10% Al,0, HTHI, SR Heled =1.19
Fll/ ey, Tifger AET: 5 /e

=> Al,0, 1.4 .3, /feex = 1.4 711,/ &.fA.

10,000 Er.fir./ﬂ?r x 1.4 I1./ €.f7. = 14 &<lY/ & ALO,

=> 14 $lY/ f&=T Al,0,/0.1/1.19 = 118 fore/fest = 4.9 ey /a=er
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dTSH : Al deI13a1

2.5 SITT (100 hail)

- + :
480 farex
240 31|ET

o ATIT
Sl 20% SITSH $TTHT
AT Telcg =1.19
480 TereTar 3meT 403 ﬁam aﬁﬁ'/ﬁa
(240 ferex) Tr=it aThY (403 — 240 = 163 | | 480 Fsit HieHeTH
forer frex) grEt greet %l;a?r-momw 403

20% ITSH SHeH 480 forey graaAT
COIEGE
480 il x 20% = 96 sl ATSH

N

1 SUET = 40 FSll ABH
96 forell ATSH = 96/40 =>2.5
SITaT
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6.0
0 10 PAC mg/L 20 30 dlfgsl Hedhlaferel: 20 T.3T./foex
20 Alkalinity PAC 10% o ®&T AlO,
Fedifafaet : 0.15 f&.3m. /ferex
%D 20 ‘\‘\‘\‘,’_ —e @
. :
0 10 PAC mg/L 20 30 ﬂli%ﬁ HATAT: 5 ppm
ol : 5 mg/L

Fell : 10,000 m3/feel, TTEH WIHeT: 20% ATEH WA HI Eeoled =1.19
TR A5 . AT /FAET=> AEF 5mg/L=5T, / m?
10,000 m3/f&eT x 5 AT./ m? = 50 dhail/feeT 20% ATSH

=> 50 shail/fe&sT Cl, /0.05 /1.1 = 909 Tore/fee1= 37.9 frex/awer




1% FAIA WA T3 ATfgel AET fAhTersr THT

> 1 g1 feafaer ar3ste! dler = 25 Fsil

> feafaer a3st#HAT Flaa AN = 35%
->1mﬁﬁwmeﬁﬁ1ﬂma’lﬂ 25 x

35/100 = 8.75 il

> gIATATS difgal FaRIAS! Halcd = 1% = 1 ol
FaRleT gfad 100 ey (=100 &<i) e

gar

=>8.75 &l FaA (1 sgEr feaf=er a3=y) ufad 100

x 8.75 foreT 9 = 1% FoaT O

3 yar

1 <191 fearfRer 93sy alAT 9ley SI+FAT 875 faey
JA13eTl 1% FARIAN O oG |




1 sgmr feafR@er —aw#AT 1s9mEr (25
qIEEIdTs difgst heil) fedfRer aE=t
qreATehY 3T gTaiY "lelal

Jfa (440 )

gt o

875 foreIa
3TT = 875/2

= 440 forex

875 -440 =
435 forex




150 &hail /25 ol 955 farex
gfd AT = 6 SFT9T q'qﬁ:-;?ram

1000 for &Y 3mem =
500 ferex (500 &)

ST 9t =
955-500 = 455
fore)

955 farex
5% Fellel

5 % FelI{IeT HIc[HeTPI
Helcd = 1.11

1000 Fsil HieTHeThI
3Ias = 1000/1.11

=955 farex

1000 Fsil AITHTAT 5%
FART TABA:

1000 it x 5/100 = 50
Foll FART Ao

fefRer 9I3sAT 35 % FART oo

50 &t FaNlAS! a1 arfger oafaer
q13sY = 50/ 35% = 50/0.35=143 il
=143 &si1/25 Hlt 9fad sITer = 5.7 W1

=6 ST




Residual chlorine {ppm)
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FellIeT: HATT qO&ToT / AT fAeRor

Change of residual chlorine (B)

Chlorine is
consumed
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Chlorine injection (ppm)

F ART 980T
ifger AMET: 5 FAeamdw Fasr (cl,)
gyfa foeT gareftar




FellIeT: HATT qO&ToT / AT fAeRor

> 9TelY : 10,000 .77 /6=,

> FAldAd! Glel: 1 % FallilsT (Cl,) 3TTH

> Ol "Halcd =1.0 => 1.0 Hatl/foex

> QTATAT dTfga ATAT: 5 fAehama/eel => 5,000
fareiearma/1,000 foreT => 5 A/ @A

> 10,000 o.7H./fieeT x 5 ATH/T.FA. =50, 000 ITH/fET
FARIT (Cl,)=>50 Fsil/f&sT FarlaT (CL)

> FARNAR HITAT 1% FARIT (Cl,) HTHR 100 forex
"IrAT 1 dholl FART => 1 Sl FART a1 100
forex ot o=
=> 50 il FARIT (Cl,) FT AT FTigar el = 50x100
= 5,000 forex
=> 5,000 ferer/fesT =5,000/24 =208 forey/=er




